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Choose the correct answer.
Each question carries 1 Mark.
1. Which among the following is not shifting cultivation method ?
(A) Jhoom
(B) Kumari
(C) Zzabo
(D) Step Farming
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2. Which among is an example of a renewable resouce ?
(A) Coal
(B) Natural gas
(C) Arr
(D) Copper
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is an example of tertiary activity —
Cultivation
Fishhing
Social work
Industrial worker
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. The “’Chipko movemennt” occurred in the year of —
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soil is ideal for tea cultivation —
Red soil
Lateritetic soil
Black soll

Alluvial soil
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. Which of the following country is known for mass commercial grazing ?
(A) Austria

(B) Nigeria

(C) China

(D) Australia
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. Among which is not suitable for plantation farming ?
(A) Paddy

(B) Tea

(C) Rubber

(D) Coffee
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. Coal tar obtained from —

(A) Mineral oll

(B) Naphthalene

(C) Coke

(D) None of these
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Which of the following is an artificial resource ?
(A) Air
(B) Water
(C) Soil
(D) Parks
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Agroforestry is a type of —
(A) Mixed cropping
(B) Double cropping
(C) Mono cropping
(D) None of these
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Which Indian state has the highest forest cover ?
(A) Chhattisgarh
(B) Andhra Pradesh
(C) Assam
(D) Madhya Pradesh
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Which of the following states are known for tea cultivation ?
(A) Goa
(B) Assam
(C) Uttar Pradesh
(D) Rajasthan
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USDA stands for —
(A) United Nation Department of Agroforestry
(B) United States Department of Agoforestry
(C) United States Department of Agriculture
(D) None of above
USDA ~T " X1 £ —
(A) United Nation Department of Agroforestry
(B) United States Department of Agoforestry
(C) United States Department of Agriculture
(D) None of above
Black soil is suitable for —
(A) Jute cultivation
(B) Cotton cultivation
(C) Tea plantation
(D) Paddy cultivation
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Steel industry depends on the following condition —
(A) Iron ore
(B) Availability of water
(C) Transportation
(D) All of the above
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Paper Code : IV - B
(Marks : 35)

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Answer any two of the following questions. 10x2=20

Explain the nature and characteristics of different types of economic activities. What is phantom
pile ? 8+2

Define resource. Classify resources based on origin. Write a brief note on tertiary economic
activities. 2+4+4

Write a short note on the causes and consequences of deforestation. What is agroforestry ?
What are its characteristics ? 6+1+3

What are the problems of the iron and steel industry in India? Give a brief account of the

world distribution of coal. 4+6
Answer any three of the following questions. 5x3=15

Write down the required environment for the tea planntation. 5
What are the characteristics of commercial grazing ? 5
What are the problems of the cotton textile industry in India ? 5
What is sustainable development ? Why is sustainable development necessary ? 5
How is soil erosion related to deforestation ? What is social forestry ? 3+2
What is the nature and characteristics of quinary economic activities ? 5
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